Project Name Pavement Resurfacing - Oxnard West and Plain Area Spec. No. RD25-13 Abstract of Bids opened on April 3, 2025

ENGINEER'S ESTIMATE: 6,926,250.00

LOW BIDDER -Toro Enterprises, Inc. Oxnard, CA 93036 2nd Bidder -Granite Construction Company Ventura, CA 93003

Onyx Paving Company, Inc. Anaheim, CA 92806

3rd Bidder -

5,822,095.00

5,499,268.18

7,187,000.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

01 Director, Engineering Services Department

.

Copies: Director PWA, PM: Chase Luckey, M. Hespenheide

BID ABSTRACT

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

Page 1 of 4

5				UP VENIURA	COUNT OF VENTURA - PUBLIC WURKS AGENCY	S AGENCY			Page 1 of 4
Bids	Bids opened on April 3, 2025			ENGINEER'S ESTIMATE	ESTIMATE	LOW BIDDER		2nd Bidder	
Proje	Project Name Pavement Resurfacing - Oxnard West and I					Toro Enterprises, Inc.	2	Granite Construction Company	n Company
						2101 E. Ventura Blvd. Oxnard. CA 93036	.pv	4820 McGrath St., #101 Ventura CA 93003	#101
	Spec. No. RD25-13								
N N	ITEM	UNIT	OLIANTITY	LINIT PRICE	ΤΟΤΑΙ				TOTAL
3	SCHEDULE I				20				ICIAL
۰	Mobilization	rs	-	286,044.80	286,044.80	225,000.00	225,000.00	93,500.00	93,500.00
7	Traffic Control & Construction Signing	LS	-	450,000.00	450,000.00	265,000.00	265,000.00	156,800.00	156,800.00
ო	Water Pollution Control	L S	-	10,000.00	10,000.00	20,000.00	20,000.00	5,100.00	5,100.00
4	SB-1 Sign	ЕA	2	1,500.00	3,000.00	1,400.00	2,800.00	1,275.00	2,550.00
ц С	Mill & Fill Existing Rumble Strip	N	881	350.00	308,350.00	345.00	303,945.00	342.00	301,302.00
i O	AC Grinding (Full Width)	ŝ	2,600	2.50	6,500.00	3.70	9,620.00	2.70	7,020.00
- 0	AC Base Repair	Z	2,033	350.00	711,550.00	220.00	447,260.00	238.00	483,854.00
0 0	AC INISCENTIEULS FAVING Cold Million (5' Wide)	Z U	37	300.00	11,100.00	325.00	12,025.00	735.00	27,195.00
10	AC Taper With Kev	л ру	2.320	001	2 320 00	0.035	4,402.03 5.452.00	00.7	3,303.00
11	AC Dike Repair	5	187	18.00	3.366.00	22.00	4.114.00	75.00	3,010,00
12	Seal Coat	Ц	104	2.00	208.00	11.00	1,144.00	15.00	1.560.00
13	Asphalt Rubber Aggregate Membrane (ARAM)	ς	90,800	7.00	635,600.00	4.92	446,736.00	5.05	458,540.00
14	AC Hot Mix (ACHM) w/ Fiber Reinforcement	TN	8,044	170.00	1,367,480.00	145.00	1,166,380.00	174.00	1,399,656.00
15	Shoulder Backing	M	6.18	10,000.00	61,800.00	9,622.00	59,463.96	20,000.00	123,600.00
16	Traffic Loops	EA	18	750.00	13,500.00	706.00	12,708.00	750.00	13,500.00
11	Traffic Count Station	БA	2	9,500.00	19,000.00	37,000.00	74,000.00	36,350.00	72,700.00
2 4	Pedestrian Push Button Assembly Post	Ч	0	6,200.00	12,400.00	8,232.00	16,464.00	8,020.00	16,040.00
5.0	Replace Pedestrian Push Button	Ë	4	500.00	2,000.00	5,480.00	21,920.00	5,350.00	21,400.00
2 2		2 3	3.09	3,500.00	10,815.00	6,115.00	18,895.35	7,400.00	22,866.00
- c	Coordine Rumble Strip	Ξi	6.18	2,500.00	15,450.00	2,966.29	18,331.67	6,300.00	38,934.00
1 2	Currente Marnine Surfaces	Ч Ч	4 4	00.006,7	30,000.00	2,800.00	11,200.00	1,785.00	7,140.00
24		(U U -		00.00	4,000,00	01.001.11	5,500.00	00.0/3	2,850.00
25	Survey Monument Frame Adirist & Renjacement	Ч	400		20,000.00 15 600 00	00.06	38,000.00	140.00	56,000.00
29	Pavement Delineation Strining & Siming	5 0	<u>5</u> -	1,200.00	10,000,00	Z,U4U.UU	20,020,02	2,630.00	34,190.00
27		ЗЩ	- m	8.000.00	74 000 00			145,215.00 4 565 00	145,215.00 13 605 00
	TOTAL SCHEDULE I				4,483,000.00		3,396,881.83		3,525,811.00
	SCHEDULE II - OXNARD PLAINS AREA (NAVALAIR RD. RICE	AIR RD.	RICE AVE. &	AVE. & CHANNEL ISLANDS BLVD)					
28	Mobilization	LS L	1	115.776.00	115.776.00	117.000.00	117 000 00	64 900 00	64 900 00
29	Traffic Control & Construction Signing	LS L	-	150,000.00	150,000.00	151,000.00	151,000.00	98.200.00	98.200.00
8	Water Pollution Control	LS	L	2,500.00	2,500.00	15,000.00	15,000.00	5,300.00	5,300.00
31	SB-1 Sign	EA	2	1,500.00	3,000.00	1,400.00	2,800.00	1,275.00	2,550.00
32	Clearing and Grubbing	LS	-	20,000.00	20,000.00	13,000.00	13,000.00	10,180.00	10,180.00
33	Surface Preparation and Crack Treatment	۲S	-	100,000.00	100,000.00	45,000.00	45,000.00	50,205.00	50,205.00
34	AC Base Repair	N	167	350.00	58,450.00	242.00	40,414.00	510.00	85,170.00
35	AC Miscellaneous Paving	N	29	300.00	8,700.00	330.00	9,570.00	515.00	14,935.00
9.5	Cold Milling (5' Wide)	ц L	4875	1.80	8,775.00	2.45	11,943.75	6.00	29,250.00
10		ה ר	6U/6	1.00	5,705.00	2.00	11,410.00	1.20	6,846.00
000	AC DIRE Repair Seal Coat	5 4	0981	18.00	33,100.00 00.001 00	15.00	29,250.00 6 603 30	24.00	46,800.00
64	AC Swale, 6" Thick	I Z	23	300.00	6.900.00	455.00	0,003.30 10 465 00	2.UU 605 00	8,004.00 13 015 00
41	AC Hot Mix (ACHM) with Fiber Reinforcement	Z	4457	170.00	757,690,00	149.00	664 093 00	178.00	793 346 00
42	Shoulder Backing	Σ	4.83	10,000.00	48,300.00	11,000.00	53,130.00	21,500.00	103,845.00

⊢
Q.
2
ŝ
¥
õ
ш

BID	BID ABSTRACT		COUNTY	OF VENTURA	OUNTY OF VENTURA - PUBLIC WORKS AGENCY	S AGENCY			Page 2 of 4
Bids	Bids opened on April 3, 2025			ENGINEER'S ESTIMATE	ESTIMATE	LOW BIDDER		2nd Bidder	
ร้อม	Project Name Pavement Resurfacing - Oxnard West and	_				Toro Enterprises, Inc. 2101 E. Ventura Blvd. Ovnard CA 03036	Inc. Sivd.	Granite Construction Company 4820 McGrath St., #101	n Company #101
	Spec. No. RD25-13								
NO.		UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAI
43	Traffic Loops	EA	13	750.00	9,750.00	713.00	9,269.00	750.00	9,750.00
44	Detectable Warning Surfaces	EA	5	800.00	4,000.00	1,000.00	5,000.00	1,735.00	8.675.00
45	Survey Monument Frame Adjust and Replace	EA	Э	1,200.00	3,600.00	2,100.00	6,300.00	3,960.00	11.880.00
46	Pavement Delineation, Striping & Signing	S	-	150,000.00	150,000.00	117,000.00	117,000.00	39,500.00	39,500.00
4/	Asphalt Rubber Aggregate Membrane (ARAM)	۲ S	12500	7.00	87,500.00	4.92	61,500.00	5.00	62,500.00
6 0	I TAME COUNT STATION TOTAL SCHEDULE II	EA	~	9,500.00	9,500.00	37,400.00	37,400.00	36,350.00	36,350.00
					00.002,586,1		1,417,148.05		1,502,101.00
	SCHEDULE III - OXNARD WEST AREA (DORIS AVE, PATTERSON RD, & FIFTH ST)	IVE, PAT	TERSON RD,	, & FIFTH ST)					
49	Mobilization	۲ N	~	77,445.60	77,445.60	72,000.00	72,000.00	9.400.00	9.400.00
50	Traffic Control & Construction Signing	LS L	~	100,000.00	100,000.00	72,000.00	72,000.00	66.560.00	66.560.00
51	Water Pollution Control	LS	-	2,500.00	2,500.00	12,000.00	12,000.00	16,350.00	16.350.00
52	SB-1 Sign	EA	2	1,500.00	3,000.00	1,400.00	2,800.00	1,275.00	2,550,00
53	Surface Preparation and Crack Treatment	ΓS	-	70,000.00	70,000.00	28,000.00	28,000.00	32,335.00	32,335.00
54	AC Base Repair	TN	49	350.00	17,150.00	272.00	13,328.00	780.00	38,220.00
55	AC Miscellaneous Paving	N	5	300.00	1,500.00	427.00	2,135.00	1,210.00	6,050.00
56	Cold Milling (5' Wide)	5	3063	1.80	5,513.40	3.15	9,648.45	6.00	18,378.00
57	AC Taper With Key	SF	3785	1.00	3,785.00	2.80	10,598.00	1.20	4.542.00
58	Seal Coat	Ц	3063	2.00	6,126.00	1.95	5,972.85	2.00	6,126.00
59	AC Hot Mix (ACHM) with Fiber Reinforcement	N	2554	170.00	434,180.00	150.00	383,100.00	189.00	482,706.00
60	Shoulder Backing	M	2.88	10,000.00	28,800.00	9,950.00	28,656.00	25,700.00	74.016.00
61	Pavement Delineation, Striping & Signing TOTAL SCHEDULE III	LS	-	100,000.00	100,000.00 850,000.00	45,000.00	45,000.00 685,238.30	36,950.00	36,950.00 794,183.00
	TOTAL SCHEDULE I, II, AND III				6,926,250.00		5,499,268.18		5,822,095.00

Copies: Director PWA, PM: Chase Luckey, M. Hespenheide

ï

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

o opiq			
Project	Protect Name Devenant Description Owned West and	Sra Bidder	100 March 1
	A NAME - LAVEINEN ASSUMPTING - OXNARD WEST AND	Опух Раving Company, Inc 2890 La Cresta Ave.	any, Inc.
		Anaheim, CA 92806	
	Spec. No. RD25-13		
	W		
	SCHEDULE I - HUENEME ROAD		
-	Mobilization	336,691.00	336,691.00
7	Traffic Control & Construction Signing	555,000.00	555,000.00
ი	Water Pollution Control	9,000.00	9,000.00
4	SB-1 Sign	5,000.00	10,000.00
2	Mill & Fill Existing Rumble Strip	300.00	264,300.00
9	AC Grinding (Full Width)	4.00	10,400.00
7	AC Base Repair	300.00	609,900.00
8	AC Miscellaneous Paving	500.00	18,500.00
ი	Cold Milling (5' Wide)	5.00	2,545.00
10	AC Taper With Key	3.00	6,960.00
11	AC Dike Repair	25.00	4,675.00
12	Seal Coat	3.00	312.00
; 13	Asphalt Rubber Aggregate Membrane (ARAM)	6.00	544,800.00
4	AC Hot Mix (ACHM) w/ Fiber Reinforcement	160.00	1,287,040.00
15	Shoulder Backing	50,000.00	309,000.00
9	I rathc Loops	750,00	13,500.00
1	I rathe Count Station	38,000.00	76,000.00
2 9	Pedestrian Push Button Assembly Post	8,500.00	17,000.00
61	Keplace Pedestrian Push Button	6,000.00	24,000.00
20	Centerline Rumble Strip	2,500.00	7,725.00
17 8	Edgeline Rumble Strip	1,400.00	8,652.00
78	Concrete Pad	4,000.00	16,000.00
EN C	Detectable Warning Surfaces	2,000.00	10,000.00
24		105.00	42,000.00
0 0	Survey Monument Frame Adjust & Replacement	5,000.00	65,000.00
07	Pavement Delineation, Striping & Signing	166,000.00	166,000.00
17		12,000.00	36,000.00
	I UI AL SCHEDULE I		4,451,000.00
đ	SCHEDULE II - OXNARD PLAINS AREA (NAVAL)		
28	Mobilization	101,284.00	101,284.00
29	Traffic Control & Construction Signing	225,000.00	225,000.00
8	Water Pollution Control	8,000.00	8,000.00
5	SB-1 Sign	5,000.00	10,000.00
32	Clearing and Grubbing	77,000.00	77,000.00
33	Surface Preparation and Crack Treatment	66,000.00	66,000.00
34 1	AC Base Repair	300.00	50,100.00
00 90		500.00	14,500.00
6 6	COUD MINING (3 VAIGE)	5.00	24,375.00
38	AC Taper With Ney AC Dike Penair	3.00	11/,115.00
8 E	Seal Coat	00.67 9.00	10,000,00
40	AC Swale, 6" Thick	500.00	11 500 00
41	AC Hot Mix (ACHM) with Fiber Reinforcement	160.00	713 120 00
42	Shoulder Backing	50.000.00	241 500 00
	9		·····

Page 3 of 4

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

Bids o	Bids opened on April 3, 2025	3rd Bidder		
Projec	Project Name Pavement Resurfacing - Oxnard West and I	Onyx Paving Company, Inc.	any, Inc.	1
		2890 La Cresta Ave.	ai	
		Anaheim, CA 92806	9	
	Spec. No. RD25-13			
ITEM				
o V	ITEM	UNIT PRICE	TOTAL	-
43	Traffic Loops	750.00	9,750.00	1
44	Detectable Warning Surfaces	2,000.00	10,000.00	
45	Survey Monument Frame Adjust and Replace	5,000.00	15,000.00	
46	Pavement Delineation, Striping & Signing	55,000.00	55,000.00	
47	Asphalt Rubber Aggregate Membrane (ARAM)	8.00	100,000.00	
48	Traffic Count Station	38,000.00	38,000.00	
	TOTAL SCHEDULE II		1,848,000.00	
	SCHEDULE III - OXNARD WEST AREA (DORIS A			
49	Mobilization	58,301.00	58,301.00	
50	Traffic Control & Construction Signing	111,000.00	111,000.00	
51	Water Pollution Control	8,000.00	8,000.00	
52	SB-1 Sign	5,000.00	10,000.00	
53	Surface Preparation and Crack Treatment	40,000.00	40,000.00	
54	AC Base Repair	300.00	14,700.00	
55	AC Miscellaneous Paving	500.00	2,500.00	
56	Cold Milling (5' Wide)	5.00	15,315.00	
57	AC Taper With Key	3.00	11,355.00	
58	Seal Coat	3.00	9,189.00	
59	AC Hot Mix (ACHM) with Fiber Reinforcement	160.00	408,640.00	
60	Shoulder Backing	50,000.00	144,000.00	
61	Pavement Delineation, Striping & Signing	55,000.00	55,000.00	
	TOTAL SCHEDULE III		888,000.00	
	TOTAL SCHEDULE I, II, AND III		7,187,000.00	
			•	

.

Copies: Director PWA, PM: Chase Luckey, M. Hespenheid

0

Page 4 of 4

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: TORO ENTERPRISES, INC.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work	
Traffic Loops	652956	000003794		Schedule 1: 16-19	с.
Crackfilling, Inc.				Schealule 2:43 4 48	
MD Rubberized	986686	10.000	32 Rancho Circle	crack Seal	
Crackfill	100000	00006436	Lake Pacest, 92630	33453	
American Pavement Systems, Inc.	943792		1012 11 Street	ARAM	
Systems, Inc.	-1451 12	100000207	Molesto, CA 95354	Schedule 1:13 Sched	ule 2:47
]
					,
					1
					1

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

Page 1 of 1

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: Granite Construction Company

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
MD Rubberized Crackfiller	986686	1000006438	32 Rancho Circle, Lakeforest, CA 92630	33, 53 - Cracksealing
Traffic Loops Crackfilling, Inc.	652956	1000003794	946 S. Emerald St, Anaheim, CA 92804	16-19, 43, 48 - Electrical
Chrisp Company	374600	1000000306	2280 S. Lilac Ave, Bloomington, CA 92316	26, 46, 61 - Pavement Marking & Signs
American Pavement Systems, Inc.	943792	1000000207	1012 11th St, Modesto, CA 95354	13, 47 - ARAM

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

Page ____ of ____